STATE OF KANSAS STATE CORPORATION COMMISSION 130 S. Market, Room 2078

Wichita, KS 67202

WELL PLUGGING RECORD

K.A.R.-82-3-117

API NUMBER 15-023-20368 700

LEASE NAME MYERS TRUST WELL NUMBER 1-30

TYPE OR PRINT

NOTICE: Fill out completely and return to Cons. Div.

610 Ft. from S Section Line 960 Ft. from E Section Line

		O	office within	30 days		om is soom in dine	
LEASE OPERATOR	Murfin Drilling				SEC. 30 TW	P. <u>2S</u> RGE. <u>41W</u>	(E) or (W)
LEASE OPERATOR Murfin Drilling Co., Inc. ADDRESS 250 N. Water, Suite 300; Wichita, KS 67202					COUNTY	CHEYENNE	
PHONE # () <u>267</u> -						mpleted 8/07/00	and a figure to the state of th
Character of Well D&					ing commenced	8/06/00	After promoted and beautiful and analysis and a state of the state of
						8/06/00	
The plugging proposal		3/06/00				(date)	
by Herb Deines KCC	Hays KS.					•	ict Agent's
Name).							
Is ACO-1 filed? No		If not, is v	well log atta	ched?	Yes		
Producing Formation _	,	Depth to Top		Bot	Bottom TD		
Show depth and thickr		nd gas formations	S.			-	
OIL, GAS, OR WATE	R RECORDS		CAS	ING RECORI)		
Formation	Content	From	То	Size	Put In	Pulled out	
		surface		8 5/8	389'		
		Suracc		0 3/0	389		
Plugged well as follow	s: 50 sx @ 2875'; 50	sx @ 440'; 10 sx	@ 40'; 15 s	x in RH. 60/40	Poxmix, 6% gel	, 1/4# Flocele.	
,						BECEIVI	
Name of Division Co.	3.5		_			STATE CORPORATION	COMMISSION
Name of Plugging Con	tractor Murin	Drilling Company	y, Inc.	Licen:	se No30606		A B A A
Address	250 N. Water, S	uite 300; Wichita,	KS 67202	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		AUG 25	2000
NAME OF PARTY R	ESPONSIBLE FO	R PLUGGING F	EES: M	urfin Drilling	Company, Inc.	CONSERVATION Wichita, Kar	
STATE OF <u>KAN</u>	SAS	C	OUNTY OF	SEDG	WICK	,ss.	
Larry M. Jack, Product	ion Manager					scribed well, being f	irst duly sworn
on oath, says: That I h	ave knowledge of the	e facts, statements	s, and matter	s herein conta	ined and the log	of the above-describe	ed well as filed
hat the same are true a	and correct, so help r	ne God.		(Signat	ure) Jany	M Jack	***************************************
	SUBSCRIBED A	AND SWORN TO	before me th	his <u>15</u> day of	Aug., 2000	BARBAR NOTA STATE My Appt. Exp	A J. DODSON RY PUBLIC OF KANSAS D. 12-16-03

My Commission Expires: 12/16/03

Notary Public - Barbara J. Dodson

Form CP-4

Revised 05-88



ALLIED CEMENTING CO., INC.

P.O. BOX 31, RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

INVOICE

Invoice Number: 081890

Invoice Date: 08/06/00

Murfin Drilling Co. Sold 250 N. Water, St. #300 To:

> Wichita, KS 67202

RECEIVED STATE CORPORATION COMMISSION

AUG 2 5 2000

CONSERVATION DIVISION Wichita, Kansas

Cust I.D....: Murfin P.O. Number..: Myers Trstl-30 P.O. Date...: 08/06/00

Due Date.: 09/05/00 Terms...: Net 30

Item I.D./Desc.	. Qty. Used	Unit:	Price	Net	тx
Common	75.00	SKS	7.5500	566.25	E
pozmix	50.00	SKS	3.2500	162.50	E
Ge l	6.00	SKS	9.5000	57.00	E
FloSeal	31.00	LBS	1.1500	35.65	E
Handling	190.00	SKS	1.0500	199.50	E
Mileage (81)	81.00	MILE	7.6000	- 615.60	E
190 sks @\$.04	per sk per mi				
Plug	1.00	JOB	580.0000	580.00	E
Mileage pmp trk	81.00	MILE	3.0000	243.00	E
Dry hole plug	1.00	EACH	23.0000	23.00	E
Date of Invoice. If Account CURRE	et, Payable 30 Days Fo 1 1/2% Charged Therea NT take Discount of \$_ hin 30 days from Invoi	fter. Tax. 248.25 Paymo	otal: : ents: l:	2482.50 0.00 0.00 2482.50	

FORM #F9000 57685

contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.

TAX ___

TOTAL CHARGE __

DISCOUNT _____ - IF PAID IN 30 DAYS

SIGNATURE Litt Van Pert

PRINTED NAME

ALLIED CEMENTING CO., INC. 5402 Federal Tax I.D.#

r TO P.O. BOX 31

SERVICE POINT:

RUS	RUSSELL, KANSAS 67665					Oakley			
8-6-00	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH		
DATE THUST	30	1250	4/w		8:00 AM	COUNTY	STATE		
THUST LEASE MYCHS	WELL#	1-30	LOCATION ST FL	ghcis /w-	- 5N - 5 W -125	Cheyenne	<u>Ks</u>		
OLD OR NEW (C	Circle one)								
CONTRACTOR	Murf.	n Drla	Rig 3	OWNER	59me				
TYPE OF JOB	PTA		<u> </u>						
HOLE SIZE	718	T.D.		CEMENT	/0 <i>a</i>	- 1 - 1 -	1100 Pm		
CASING SIZE		DEI		AMOUNT O	RDERED /20	SKS GU	40/02		
TUBING SIZE		DEI		11001	100 11	Gel Yy	F10 .>eg1		
DRILL PIPE		DEI		used	125 5KS				
TOOL		DEI			75-6	@ <u>7.55</u>	566.25		
PRES. MAX			NIMUM	_ COMMON_	7.5 sks 50 sks	@ 3.25	162,50		
MEAS. LINE	nt 000	SHO	DE JOINT	POZMIX _	6 5ks	_@ <u>9.50</u>	57.00		
CEMENT LEFT	IN CSG.			GEL CHLORIDE	6 325	_@ 7.52			
PERFS.	T			Flo se	01 3/4	@ ///5	35.65		
DISPLACEMEN'				- 1-10 SE		_ @ <i>////</i> @	00.00		
	EQU	UIPMENT		***************************************		_			
				-		_			
PUMP TRUCK	CEMENT	TER	ean			_			
# 300	HELPER	wa	1he	HANDLING	1905KS	@ 1.05	199.50		
BULK TRUCK		/			4 + per 5K/	niles	615.60		
# 218	DRIVER	DUG.	1º	-					
BULK TRUCK						ТОТАТ	1636.50		
#	DRIVER	····				IOIAL	100000		
REMARKS:					SERVICE				
157 Plug	97 0	2875	W/505K5	_ DEPTH OF J		28	575		
2d Plug	97 3	140	V/505KS		CK CHARGE		580.00		
10 5K5	40'	w/p	/ing	_ EXTRA FOO		@	21/2 12		
15-5KS	-1h/	Rg 1 1+	-0/e	_ MILEAGE	8/ Miles	<u> </u>	273.00		
				_ PLUG 878	- Dry Hole		23.00		
						@			
			hank you			@			
		0 (TOTAL	846.00		
CHARGE TO: ∠	MULF.	n Dila	Co Inc	_					
					FLOAT EQ	UIPMENT			
CITY	S'	TATE	ZIP			<u> </u>			
					and the second s				
				Marked to the second of the se					

						@ @			
To Allied Ceme	enting Co.,	Inc.	•	Market 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1					
You are hereby	requested	to rent cer	menting equipment			mom	•		
and furnish cen						TOTA	L		
contractor to do	o work as i	is listed. T	he above work was						
done to satisfac	ction and s	upervision	of owner agent or	TAX					
			d the "TERMS ANI)					
CONDITIONS				TOTAL CHA	ARGE				
				DISCOUNT		IF PA	ID IN 30 DAYS		
	, ,								
SIGNATURE _	Keith	Van	feet						
	1	- "	•		PRIN'	TED NAME			

15-195-200080000	, ,	Dune	Con t	+4
Martin Drilling Co.	(2/W
REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	.D.# 400,000	SERV	/ICE POINT:	el Treg
DATE 9-18-00 SEC. TWP. RANGE	CALLED OUT	ON LOCATION 8:30 Am	JOB START	JOB FINISH
LEASE OUNCAN WELL# 4 LOCATION E///> OLD OR NEW (Circle one)		, , , , , ,	COUNTY	STATE
CONTRACTOR CO TOOLS TYPE OF JOB Plu 9	OWNER	3 4 4		
HOLE SIZE T.D. CASING SIZE \$\frac{1}{2}\$ DEPTH	CEMENT AMOUNT OR	DERED		
TUBING SIZE 23- DEPTH DRILL PIPE DEPTH	42) ph	11-0440-10	SRd 395	
TOOL DEPTH	- FOO P10	// <i>S</i>	3-4 373	m.
PRES. MAX MINIMUM	COMMON	237	@ <u>635</u>	150495
MEAS. LINE SHOE JOINT CEMENT LEFT IN CSG.	POZMIX GEL	_72 8	_@ <u>325</u> @ 950	<u> 518 50</u>
PERFS.	CHLORIDE	<u> 28 · </u>	_@_ 95 _ _@	266=
DISPLACEMENT	Hulls	8	@ <u>15 5.</u>	12400
EQUIPMENT			@	
			-@	****
PUMP TRUCK CEMENTER 8:1/			-@ <u></u>	
# HELPER ROW BULK TRUCK	HANDLING_		@ 105	48405
# 291 DRIVER Shave	MILEAGE	4/51	MilE	4054
BULK TRUCK	(ap)	•	/'	10
# DRIVER			TOTAL	32984
REMARKS:		SERVI	CE	
Tubing c2100 Spot 300th W	DEPTH OF JOI	В		
DOO HHUIS, and TO 1176', mix	PUMP TRUCK			4500
SS phr Com did Circi	EXTRA FOOTA		.@	***************************************
Dump down Ann w 25 ph	MILEAGE	.22	<u>@392</u>	
may 500 - Shot FN 200 4	1200		_@ _@	-
CHARGE TO: <u>Murfin</u>			TOTAL	516 °°
STREET		FLOATEOI	DA CERTON	
CITYSTATEZIP_		FLOAT EQUI	PMENT	
CITTSTATEZIP			@	
			_@	
			@	
			.@	
To Allied Cementing Co., Inc.			. @	
You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or			ፓ <u>ር</u> ፓላ፤	
contractor to do work as is listed. The above work was			IOIAL	
done to satisfaction and supervision of owner agent or	TAX		٠	
contractor. I have read & understand the "TERMS AND			=	
CONDITIONS" listed on the reverse side.	TOTAL CHARC	GE	8	REGENTED
	DISCOUNT —		STATE PART	PIN 30 DAYSMMISSI

PRINTED NAME

CONSERVATION DIVISION Wichita, Kansas

SEP 2 8 2000